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The point C has coordinates (2, —%) and
the point D has coordinates (4, 6).
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Find the equation of the line perpendicular
to CD and passing through D.
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p = 1.045 correct to 4 significant figures
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By considering bounds, work out the value of

a to a suitable degree of accuracy
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Simplify the ratio

V27 : /75 : /1200
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Find the minimum point of the graph
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For all values of x,

fx)=x*+4
gx)=x-9
soive fg(x) = gf(x)

9f(x): 2 +4-7: 2% -
f’j/zj: (x-1)(x4)+ 4

PSR AR O
Bx 'y 80
L e

© Corbettmaths 2016

www.corbettmaths.com

- d(- e T -
Bt~ % A : /”'(q)‘f " Y2 ~%1’“ £/L
P 67’/&,} 9
\/ : - U 1*’45‘? &)
p |
1’95'5“/1‘457- Mg (L = m"” (-4 (55157
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